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%HUGDVDUNDQ� GDUL� KDVLO� SHQHOLWLDQ� \DQJ� WHODK� GLODNXNDQ� \DQJ� EHUWXMXDQ� XQWXN�

PHQJHWDKXL�SHQJDUXK�DQWDUD� LQIRUPDVL�GDQ�VRVLDOLVDVL�� ODWDU�EHODNDQJ�SHQGLGLNDQ��

MHQMDQJ�SHQGLGLNDQ�� ODPD�XVDKD��GDQ�XNXUDQ�XVDKD� WHUKDGDS�SHPDKDPDQ�80.0�

GDODP�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�EHUGDVDUNDQ�6$.�(0.0�GHQJDQ�UHVSRQGHQ�

VHEDQ\DN����RUDQJ�SHODNX�XVDKD�\DQJ�EHUDGD�GL�ZLOD\DK�NHFDPDWDQ�*XQXQJ�$Q\DU��

GDSDW�GLDPELO�EHEHUDSD�NHVLPSXODQ�VHEDJDL�EHULNXW��

�� +DVLO� SHQJXMLDQ� PHQXQMXNNDQ� LQIRUPDVL� GDQ� VRVLDOLVDVL� WLGDN� EHUSHQJDUXK�

VLJQLILNDQ�WHUKDGDS�SHPDKDPDQ�80.0�GDODP�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�

EHUGDVDUNDQ�6$.�(0.0��+DO�LQL�ELVD�GLVHEDENDQ�ROHK�WHUNHQGDODQ\D�ZDNWX�

SHODNX� 80.0� GDODP� PHQJLNXWL� NHJLDWDQ� VRVLDOLVDVL� \DQJ� GLDGDNDQ� ROHK�

SLKDN�SLKDN�WHUNDLW�

�� +DVLO� SHQJXMLDQ� PHQXQMXNNDQ� ODWDU� EHODNDQJ� SHQGLGLNDQ� WLGDN� EHUSHQJDUXK�

VLJQLILNDQ�WHUKDGDS�SHPDKDPDQ�80.0�GDODP�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�

EHUGDVDUNDQ� 6$.� (0.0�� +DO� LQL� ELVD� GLNDUHQDNDQ� EDQ\DNQ\D� LQIRUPDVL�

PHQJHQDL�NHLOPXDQ�WHQWDQJ�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�VHVXDL�VWDQGDU�\DQJ�

EHUODNX� VHKLQJJD� WLGDN� DGD� NHWHUNDLWDQ� GHQJDQ� ODWDU� EHODNDQJ� SHQGLGLNDQ�

GLGDODP�PHPDKDPL�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�80.0�

�� +DVLO�SHQJXMLDQ�PHQXQMXNNDQ�MHQMDQJ�SHQGLGLNDQ�WLGDN�EHUSHQJDUXK�VLJQLILNDQ�

WHUKDGDS� SHPDKDPDQ� 80.0� GDODP� SHQ\XVXQDQ� ODSRUDQ� NHXDQJDQ�

EHUGDVDUNDQ�6$.�(0.0��:DODXSXQ�GHQJDQ�MHQMDQJ�SHQGLGLNDQ�\DQJ�EHUODWDU�



���

EHODNDQJ� HNRQRPL� MXJD� EHOXP� WHQWX� GDSDW� PHPDKDPL� SHQ\XVXQDQ� ODSRUDQ�

NHXDQJDQ�EHUGDVDUNDQ�6$.�(0.0��+DO�LQL�ELVD�GLNDUHQDNDQ�ROHK�EDQ\DNQ\D�

SHODNX�80.0�GHQJDQ� MHQMDQJ�SHQGLGLNDQ� \DQJ�PLQLP�ELVD�GHQJDQ�PXGDK�

PHQGDSDWNDQ� LQIRUPDVL� PHQJHQDL� SHQ\XVXQDQ� ODSRUDQ� NHXDQJDQ� VHVXDL�

GHQJDQ� VWDQGDU� \DQJ� EHUODNX�� 6HKLQJJD� MHQMDQJ� SHQGLGLNDQ� WLGDN�

PHPSHQJDUXKL� VLJQLILNDQ� SHPDKDPDQ� SHODNX� 80.0� GDODP� SHQ\XVXQDQ�

ODSRUDQ�NHXDQJDQ�VHVXDL�GHQJDQ�6$.�(0.0�

�� +DVLO� SHQJXMLDQ� PHQXQMXNNDQ� ODPD� XVDKD� EHUSHQJDUXK� VLJQLILNDQ� WHUKDGDS�

SHPDKDPDQ�80.0�GDODP�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�EHUGDVDUNDQ�6$.�

(0.0�� +DO� LQL� GLVHEDENDQ� GHQJDQ� SHQJDODPDQ� SHODNX� 80.0� \DQJ� DGD�

GDSDW� PHPSHQJDUXKL� EDJDLPDQD� FDUD� PHQ\XVXQ� ODSRUDQ� NHXDQJDQ� VHVXDL�

GHQJDQ�VWDQGDU�NHXDQJDQ�\DQJ�EHUODNX�

�� +DVLO� SHQJXMLDQ� PHQXQMXNNDQ� XPXU� XVDKD� EHUSHQJDUXK� VLJQLILNDQ� WHUKDGDS�

SHPDKDPDQ�80.0�GDODP�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�EHUGDVDUNDQ�6$.�

(0.0��+DO�LQL�GLVHEDENDQ�EHVDUQ\D�XVDKD�GDQ�NHPDPSXDQ�SHUXVDKDDQ�GDODP�

PHQJHOROD�XVDKDQ\D�DNDQ�PHPSHUWLPEDQJDNDQ�EDJDLPDQD�PHQ\XVXQ�ODSRUDQ�

NHXDQJDQ�EHUGDVDUNDQ�VWDQGDU�NHXDQJDQ�\DQJ�EHUODNX�

��� 6DUDQ��

6HWHODK�PHQ\LPSXONDQ�GDQ�PHPEHULNDQ�LPSOLNDVL�GDUL�SHQHOLWLDQ�\DQJ�VXGDK�

GLODNXNDQ��PDND�SHQHOLWL�PHQFRED�PHPEHULNDQ�PDVXNDQ�VHEDL�EHULNXW��

�� 3HQHOLWL� VHODMXWQ\D� KDUXV� PHPSHUKDWLNDQ� ZDNWX� SHQHOLWLDQ� \DQJ� WHSDW� VDDW�

PHQ\HEDU�GDQ�PHQJXPSXONDQ�NXHVLRQHU�� NDUHQD�KDO� LQL� GDSDW�PHPHQJDUXKL�

KDVLO�SHQHOLWLDQ��
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�� 3HQHOLWLDQ� VHODQMXWQ\D� ELVD� PHQJHPEDQJNDQ� UHVSRQGHQ� XQWXN� SHQHOLWLDQ�

VHODQMXWQ\D�GDODP�KDO�LQL�MXPODK�VDPSHO�GDODP�SHQHOLWLDQ��VHKLQJJD�KDVLOQ\D�

DNDQ�ELVD�PHQXQMXNNDQ�NHDGDDQ�80.0�GL�NRWD�6XUDED\D�VHFDUD�OHELK�UHOHYDQ�

XQWXN�SHQHOLWLDQ�VHODQMXWQ\D��

�� 8QWXN�SLKDN�80.0�VHKDUXVQ\D�OHELK�PHPSHUKDWLNDQ�DGDQ\D�VRVLDOLVDVL�GDQ�

LQIRUPDVL� WHUKDGDS� SHPEXDWDQ� ODSRUDQ� NHXDQJDQ� \DQJ� VHVXDL� GHQJDQ� 6$.�

(0.0�� VHKLQJJD� SDUD� SHODNX�80.0�GDSDW�PHPEXDW� LQIRUPDVL� NHXDQJDQ�

\DQJ�EHUNXDOLWDV�GDQ�EDLN�

��� .HWHUEDWDVDQ�GDQ�,PSOLNDVL�3HQHOLWLDQ�

����� .HWHUEDWDVDQ�3HQHOLWLDQ�

3HQHOLWLDQ� LQL� PHPLOLNL� EHEHUDSD� NHWHUEDWDVDQ� \DQJ� GLDODPL� ROHK� SHQHOLWL��

%HEHUDSD� IDNWRU� XQWXN� OHELK� GLSHUKDWLNDQ� ROHK� SHQHOLWL� VHODQMXWQ\D� VHKLQJJD�

KDVLOQ\D�DNDQ�OHELK�VHPSXUQD��SDGD�GDVDUQ\D�SHQHOLWLDQ�LQL�PHPLOLNL�NHNXUDQJDQ�

\DQJ� SHUOX� WHUXV� GLSHUEDLNL� GDODP� SHQHOLWLDQ� NHGHSDQQ\D�� %HULNXW� NHWHUEDWDVDQ�

GDODP�SHQHOLWLDQ�LQL��\DLWX���

�� 3HQ\HEDUDQ� NXHVLRQHU� \DQJ� NXUDQJ� WHSDW� ZDNWXQ\D�� 3URVHV� SHQ\HEDUDQ�

NXHVLRQHU�SHQHOLWLDQ�LQL�GLODNXNDQ�SDGD�VLDQJ�GDQ�VRUH�KDUL��GLPDQD�SHODNX�

80.0�EDQ\DN�\DQJ�PHODNXNDQ�NHJLDWDQ�VHKLQJJD�EDQ\DN�SHODNX�80.0�

\DQJ�PHQRODN�XQWXN�GLPLQWDL�PHQJLVL�NXHVLRQHU��

�� 'DODP� SURVHV� SHQJDPELODQ� GDWD�� LQIRUPDVL� \DQJ� GLEHULNDQ� UHVSRQGHQ�

PHODOXL�NXHVLRQHU�WHUNDGDQJ�WLGDN�PHQXQMXNNDQ�SHQGDSDW�UHVSRQGHQ�\DQJ�

VHEHQDUQ\D�� KDO� LQL� WHUMDGL� NDUHQD� GDSDW� WHUMDGL� SHUEHGDDQ� SHPLNLUDQ��

DQJJDSDQ� GDQ� SHPDKDPDQ� \DQJ�EHUEHGD� WLDS� UHVSRQGHQ�� MXJD� IDNWRU� ODLQ�
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VHSHUWL� IDNWRU� NHMXMXUDQ� GDODP� SHQJLVLDQ� SHQGDSDW� UHVSRQGHQ� GDODP�

NXHVLRQHUQ\D��

����� ,PSOLNDVL�3HQHOLWLDQ�

6HWHODK� GLODNXNDQQ\D� SHQHOLWLDQ� PHQJHQDL� SHQJDUXK� LQIRUPDVL� GDQ�

VRVLDOLVDVL��ODWDU�EHODNDQJ�SHQGLGLNDQ��MHQMDQJ�SHQGLGLNDQ��ODPD�XVDKD��GDQ�XNXUDQ�

XVDKD� WHUKDGDS� SHPDKDPDQ�80.0�EHUGDVDUNDQ� 6$.�(0.0�� GDSDW� GLNHWDKXL�

EDKZD�LPSOLNDVLQ\D�VHEDJDL�EHULNXW��

�� ,QIRUPDVL�GDQ�VRVLDOLVDVL�PHQMDGL�VDODK�VDWX�YDULDEHO�\DQJ�WLGDN�PHPLOLNL�

SHQJDUXK�\DQJ�VLJQLILNDQ�WHUKDGDS�SHPDKDPDQ�80.0�GDODP�SHQ\XVXQDQ�

ODSRUDQ�NHXDQJDQ�EHUGDVDUNDQ�6$.�(0.0��+DO�LQL�PHQJDQGXQJ�LPSOLNDVL�

EDKZD�LQIRUPDVL�XPXP�VHUWD�VRVLDOLVDVL�PHQJHQDL�VXDWX�XVDKD�EHOXP�WHQWX�

PHPSHQJDUXKL� SHPDKDPDQ� 80.0� GDODP� PHQ\XVXQ� ODSRUDQ� NHXDQJDQ�

EHUGDVDUNDQ� 6$.� (0.0�� 3HODNX� 80.0� \DQJ� PHQJLNXWL� NHJLDWDQ�

VRVLDOLVDVL�VHFDUD�UXWLQ�EHOXP�WHQWX�DNDQ�PHPLOLNL�SHUVHSVL�GDQ�SHPDKDPDQ�

\DQJ�EDLN�PHQJHQDL�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�\DQJ�OHQJNDS�GDQ�VHVXDL�

GHQJDQ�VWDQGDU�DNXQWDQVL�\DQJ�EHUODNX��+DO� LWX�GLNDUHQDNDQ�NRQGLVL�VHUWD�

ZDNWX� SHODNX�80.0�SDGD� VDDW� DGDQ\D� NHJLDWDQ� VRVLDOLVDVL� SHPDKDPDQ�

6$.�(0.0�VHULQJNDOL�EHUWDEUDNDQ�VHKLQJJD�EDQ\DN�SHODNX�80.0�\DQJ�

WLGDN�ELVD�PHQJLNXWL�NHJLDWDQ�WHUVHEXW��.HJLDWDQ�SHPEHULDQ�LQIRUPDVL�GDQ�

VRVLDOLVDVL� DNXQWDQVL� KDUXV� OHELK� JLDW� GLODNXNDQ� ROHK� GLQDV� 80.0� DWDX�

SLKDN�ODLQ�NDUHQD�KDO�WHUVHEXW�DNDQ�EHUGDPSDN�WHUKDGDS�SHPDKDPDQ�VHUWD�

SHQLQJNDWDQ�NXDOLWDV�ODSRUDQ�NHXDQJDQ�80.0��
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�� /DWDU� EHODNDQJ� SHQGLGLNDQ� PHUXSDNDQ� VDODK� VDWX� YDULDEHO� \DQJ� WLGDN�

PHPLOLNL� SHQJDUXK� \DQJ� VLJQLILNDQ� WHUKDGDS� SHPDKDPDQ�80.0� GDODP�

SHQ\XVXQDQ� ODSRUDQ� NHXDQJDQ� EHUGDVDUNDQ� 6$.� (0.0�� +DO� LQL�

PHQJDQGXQJ� LPSOLNDVL� EDKZD� ODWDU� EHODNDQJ� SHQGLGLNDQ� EHOXP� WHQWX�

PHPSHQJDUXKL� PHPSHQJDUXKL� SHPDKDPDQ� 80.0� GDODP� PHQ\XVXQ�

ODSRUDQ�NHXDQJDQ�EHUGDVDUNDQ�6$.�(0.0��'DODP�KDO�LQL�ODWDU�EHODNDQJ�

SHQGLGLNDQ� SHODNX� 80.0� EHOXP� ELVD� PHQMDGL� LQGLNDWRU� EDKZD� SHODNX�

80.0�DNDQ�PHPDKDPL�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�EHUGDVDUNDQ�6$.�

(0.0�� QDPXQ� VHPDNLQ� EDQ\DN� SHQJHWDKXDQ� DNXQWDQVL� SDUD� SHODNX�

80.0�MXJD�WLGDN�PHQXWXS�NHPXQJNLQDQ�DNDQ�VHPDNLQ�EDLN�SXOD�NXDOLWDV�

ODSRUDQ� NHXDQJDQQ\D�� -DGL� SDUD� SHODNX� 80.0� KDUXV� PHPSHODMDUL�

LQIRUPDVL�WHQWDQJ�DNXQWDQVL�WLGDN�KDQ\D�GL�EDQJNX�SHQGLGLNDQ�QDPXQ�MXJD�

GL�EHUEDJDL�KDO�GDSDW�PHPDKDPL�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�EHUGDVDUNDQ�

VWDQGDU�DNXQWDQVL�\DQJ�EHUODNX��

�� -HQMDQJ� SHQGLGLNDQ� WLGDN� PHPLOLNL� SHQJDUXK� \DQJ� VLJQLILNDQ� WHUKDGDS�

SHPDKDPDQ� 80.0� GDODP� SHQ\XVXQDQ� ODSRUDQ� NHXDQJDQ� EHUGDVDUNDQ�

6$.� (0.0�� +DO� LQL� PHQJDQGXQJ� LPSOLNDVL� EDKZD� MHQMDQJ� SHQGLGLNDQ�

EHOXP� WHQWX� PHPSHQJDUXKL� PHPSHQJDUXKL� SHPDKDPDQ� 80.0� GDODP�

PHQ\XVXQ�ODSRUDQ�NHXDQJDQ�EHUGDVDUNDQ�6$.�(0.0��-HQMDQJ�SHQGLGLNDQ�

SHODNX� 80.0� EHOXP� WHQWX� PHPSHQJDUXKL� SHPDKDPDQ� SHODNX� 80.0�

GDODP�SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�VHVXDL�6$.�(0.0�NDUHQD�NHLOPXDQ�

GDODP� SHQ\XVXQDQ� ODSRUDQ� NHXDQJDQ� WLGDN� KDQ\D� GLGDSDWNDQ� GLEDQJNX�

VHNRODKDQ�PHODLQNDQ�EDQ\DN�FDUD�XQWXN�PHQGDSDWNDQQ\D��
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�� /DPD� XVDKD� PHQMDGL� VDODK� VDWX� YDULDEHO� \DQJ� PHPLOLNL� SHQJDUXK� GDQ�

VLJQLILNDQ� WHUKDGDS� SHPDKDPDQ� 80.0� GDODP� SHQ\XVXQDQ� ODSRUDQ�

NHXDQJDQ�EHUGDVDUNDQ�6$.�(0.0��+DO�LQL�PHQJDQGXQJ�LPSOLNDVL�EDKZD�

ODPD�XVDKD�PHPSHQJDUXKL�SHPDKDPDQ�80.0�GDODP�PHQ\XVXQ�ODSRUDQ�

NHXDQJDQ�EHUGDVDUNDQ�6$.�(0.0��/DPD�XVDKD�VHULQJ�GLNDLWNDQ�GHQJDQ�

SHQJDODPDQ�SHODNX�80.0�GDODP�PHQ\XVXQ� ODSRUDQ�NHXDQJDQ�VHKLQJJD�

ODPD� XVDKD� DNDQ� EHUSHQJDUXK� GDODP� SHPDKDPDQ� SHQ\XVXQDQ� ODSRUDQ�

NHXDQJDQ�SHODNX�80.0�VHVXDL�GHQJDQ�6$.�(0.0��1DPXQ�SHPDKDPDQ�

SHQ\XVXQDQ�ODSRUDQ�NHXDQJDQ�EHUGDVDUNDQ�VWDQGDU�\DQJ�EHUODNX�KDUXV�WHWDS�

GLSHODMDUL�GLLQIRUPDVLNDQ�VHKLQJJD�GDSDW�PHQ\XVXQ�ODSRUDQ�NHXDQJDQ�\DQJ�

EDLN� GDQ� EHUNXDOLWDV� VHVXDL� GHQJDQ� VWDQGDU� \DQJ� EHUODNX� VHUWD� SHULQWLV�

80.0� MXJD� ELVD�PHODNXNDQ� KDO� \DQJ� VDPD� GDODP� SHQ\XVXQDQ� ODSRUDQ�

NHXDQJDQ��

�� 8NXUDQ� XVDKD� PHQMDGL� VDODK� VDWX� YDULDEHO� \DQJ� PHPLOLNL� SHQJDUXK� GDQ�

VLJQLILNDQ� WHUKDGDS� SHPDKDPDQ� 80.0� GDODP� SHQ\XVXQDQ� ODSRUDQ�

NHXDQJDQ�EHUGDVDUNDQ�6$.�(0.0��+DO�LQL�PHQJDQGXQJ�LPSOLNDVL�EDKZD�

XNXUDQ� XVDKD� PHPSHQJDUXKL� SHPDKDPDQ� SHQ\XVXQDQ� ODSRUDQ� NHXDQJDQ�

SHODNX� 80.0� EHUGDVDUNDQ� 6$.� (0.0�� 'DODP� KDO� LQL� XNXUDQ� XVDKD�

GLNDLWNDQ� GHQJDQ� EHVDUQ\D� XVDKD� GDQ� NHPDPSXDQ� SHUXVDKDDQ� GDODP�

PHQJHOROD� XVDKDQ\D� GHQJDQ� PHOLKDW� MXPODK� WHQDJD� NHUMD� GDQ� EHVDUQ\D�

SHQGDSDWDQ� \DQJ� GLKDVLONDQ�� 6HKLQJJD� SHPDKDPDQ� SHQ\XVXQDQ� ODSRUDQ�

NHXDQJDQ�SHODNX�80.0�MXJD� VXGDK� VHKDUXVQ\D�GLSHUKDWLNDQ� DJDU�GDSDW�

EHUNXDOLWDV�GDQ�EDLN�VHVXDL�GHQJDQ�VWDQGDU�NHXDQJDQ�\DQJ�EHUODNX�


